Tableaux des Puissances de Dix (I)

Multipliez le nombre de la rangée par celui de la colonne.

5000

50 500

50 000

9,13

7,36

1,37

8,56

4,45

80

800 8 000

80 000

4,77

8,45

9,58

5,27

7,78

90

90 000 900

9000

4,6

3,78

7,83

5,86

6,75

80 000

800 8 000

80

5,09

7,48

4,65

9,83

2,12
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Tableaux des Puissances de Dix (I) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 5000 50 500 50 000
9,13 45 650 456,5 4 565 456 500
7,36 36 800 368 3 680 368 000
1,37 6 850 68,5 685 68 500
8,56 42 800 428 4 280 428 000
4,45 22 250 222,5 2225 222 500

X 80 800 8 000 80 000
4,77 381,6 3816 38 160 381 600
8,45 676 6 760 67 600 676 000
9,58 766,4 7 664 76 640 766 400
5,27 421,6 4216 42 160 421 600
7,78 622,4 6 224 62 240 622 400

X 90 90 000 900 9000
4,6 414 414 000 4140 41 400
3,78 340,2 340 200 3402 34 020
7,83 704,7 704 700 7 047 70470
5,86 527,4 527 400 5274 52740
6,75 607,5 607 500 6075 60 750

X 80 000 800 8 000 80
5,09 407 200 4072 40720 407,2
7,48 598 400 5984 59 840 598,4
4,65 372 000 3720 37 200 372
9,83 786 400 7 864 78 640 786,4
2,12 169 600 1696 16 960 169,6
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